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lopes of Lines
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You will find slope and use it to identify parallel and

perpendicular lines.
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Types of Slopes
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: Find the Slope of a Line

A. Find the slope of the line.
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=E:!:Ii:|=!== Find the Slope of a Line

B. Find the slope of the line.
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; Find the Slope of a Line
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C. Find the slope of the line. N "f%




Graph the line that satisfies each condition.

. slope = —%-, contains U(2, —2)
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Graph the line that satisfies each condition.
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Parallel Lines ¢—>2 <ame Slope_
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Examples:

The slope of a line 1s -3...
What is slope of line parallel to it? - >
perpendicular? |
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The slope of a line 1s ...

What 1s slope of line parallel to it? i,}
perpendicular? - %



:::z:“:”::z:v Determine Line Relationships

Determine whether FG and HJ are parallel,
perpendicular, or neither for F(1,-3), G(-2, -1),
H(5, 0), and J(6, 3). Graph each line to verify your

answer.  £2 4,0 “5 slope
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